
 





Table of Contents 
 
 
 
Item 6: Item and Scoring Guidelines ............................................................................................1 
Item 6: Samples of Scored Student Responses ........................................................................4 

Item 12: Item and Scoring Guidelines....................................................................................... 16 
Item 12: Samples of Scored Student Responses................................................................... 19 

Item 24: Item and Scoring Guidelines....................................................................................... 33 
Item 24: Samples of Scored Student Responses................................................................... 35 

Item 30: Item and Scoring Guidelines....................................................................................... 46 
Item 30: Samples of Scored Student Responses................................................................... 49 

Item 36: Item and Scoring Guidelines....................................................................................... 64 
Item 36: Samples of Scored Student Responses................................................................... 66 

Item 42: Item and Scoring Guidelines....................................................................................... 77 
Item 42: Samples of Scored Student Responses................................................................... 79 



 
 
 

 
 
 
 

Social Studies 
 

Item 6 
 

Spring 2006 

 
Item and Scoring Guidelines 

 

1 



Item  
 
Use the following table to answer question 6. 
 

I taly and Japan:  
Selected Indicators,  2001 
 Italy Japan 

High School Graduation Rate 79% 93% 

Infant Mortality (death) Rate (per 
1,000 live births) 

5.8 3.9 

 
Data Sources: Organization for Economic Cooperation and Development; U.S. 
Census Bureau, Statistical Abstract of the United States: 2001 
 
Using the data in the table above, support or refute the following thesis: In 2001, 
Italy had a higher standard of living than Japan. 
 
Write your answer in the Answer Document. (2 points) 
 

Sample Response for Item 6 (Short Answer): 
 
Exemplar: 
In 2001, Japan had a higher high school graduation rate, which suggests that 
people in Japan had greater access to education than people in Italy. Japan’s 
infant mortality rate was lower, suggesting that people in Japan had greater 
access to health care than people in Italy. Thus, the data can be used to refute 
the thesis that Italy had a higher standard of living than Japan in 2001. 
 
Other correct responses: 
 
The data in the table partially refute the thesis. The data suggest that people in 
Japan had greater access to education and health care than people in Italy, 
and these factors suggest that Italy did not have a higher standard of living than 
Japan in 2001. However, more data would be needed to conclusively refute the 
thesis as there are several other attributes that contribute to a standard of living. 
 
 
The data in the table are inconclusive as to the thesis. These data alone are 
insufficient to draw the broader conclusion that Italy did or did not have a higher 
standard of living than Japan in 2001. More data would be needed as there are 
several other attributes that contribute to a standard of living. 
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Scoring Guidelines for Item 6: 
 
Score point Description 
 
2 points The response provides an accurate and complete (references the 

relevance of both data sets to “standard of living”)* explanation of 
how the data refute the thesis. (The response must indicate the 
extent to which the student thinks the thesis is refuted.) 

 
1 point The response provides a partially accurate and/or incomplete 

(does not reference the relevance of both sets of data to “standard 
of living”) explanation of how the data refute the thesis. (The 
response must indicate the extent to which the student thinks the 
thesis is refuted.) 

 
0 points The response does not meet any of the above criteria. The response 

may discuss aspects of the data not related to the thesis. The 
response may only express personal opinions about the data. The 
response may incorrectly apply the data to the stated conclusion 
about the thesis.  The response may not indicate any position on the 
thesis or may indicate that the data support the thesis. 

 
*          Relevance means to explain why data relate to the standard 

of living (e.g., Italy provides fewer social services to benefit 
living standards) and not just correctly restate the data. 
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Score Point: 0 
 
The response expresses personal opinions about the data, but does not 
indicate any position on the thesis. No explanation is provided of how the 
data refute the thesis.  
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Score Point: 0 
 
The response indicates that the data support the thesis. 
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Score Point: 0 
 
The response does not meet any of the criteria needed to receive a higher 
score.  No explanation is provided of how the data refute the thesis. 
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Score Point: 1 
 
The response provides an incomplete explanation of how the data refute 
the thesis. 
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Score Point: 1 
 
The response provides an incomplete explanation of how the data is 
inconclusive. 
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Score Point: 1 
 
The response provides an incomplete explanation of how the data refute 
the thesis. 
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Score Point: 1 
 
The response provides an incomplete explanation of how the data refute 
the thesis. 
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Score Point: 2 
 
The response provides an accurate and complete explanation of how 
the data refute the thesis. 
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Score Point: 2 
 
The response provides an accurate and complete explanation of how the 
data is inconclusive. 
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Score Point: 2 
 
The response provides an accurate and complete explanation of how the 
data refute the thesis. 
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Score Point: 2 
 
The response provides an accurate and complete explanation of how the 
data refute the thesis. 
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Item 

12. During the years between 1945 and 1950, the period directly following 
World War II, the Soviet Union expanded its influence in Central and Eastern 
Europe. Describe two concerns the United States had about this expansion.  
For each concern, identify a related action taken by the United States to counter 
Soviet activities in Europe during this time period.  
 
Write your answer in the Answer Document. (4 points) 
 
 
Sample Response for Item 12 (Extended Response): 
 
Exemplar: 
One concern the United States had about Soviet expansion was that it would 
expand its influence into Western Europe. In response, the United States 
established the Marshall Plan to support democracies in Western Europe. 
Another concern the United States had about Soviet expansion was that Soviet 
military capability was growing and there was the possibility of Soviet aggression. 
In response, the United States and its European allies formed NATO as a defensive 
alliance. 
 
Possible responses may include, but are not limited to the following: 
• Concern: The U. S. believed it had to stop the further spread of communism.  

Actions may include references to containment, Marshall Plan, the Truman 
Doctrine, creation of NATO, sending troops to Europe, diplomacy, spying. 

• Concern: The Soviet Union refused to cooperate in the administration of the 
divided Germany and set up a communist government in the area under their 
control. It sealed off access to West Berlin (Berlin Blockade). 
Actions: the Berlin Airlift to keep the Allied-occupied West Berlin supplied, the 
creation of NATO, diplomacy. 

• Concern: Soviet military capability was growing and there was the possibility 
of Soviet aggression. 
Actions: the United States set up NATO as a defensive military alliance or may 
include reference to U. S. leadership and military presence in West Germany, 
diplomacy, spying. 

• Concern: The Soviet Union was transforming Eastern European countries into 
Soviet-dominated Communist states. 
Actions: U. S. programs – the Marshall Plan, Truman Doctrine to assist in the 
economic recovery of European countries and to counteract the lure of 
communist propaganda, diplomacy, spying. 

• Concern: There was a possibility of World War over Eastern Europe. 
Actions: the formation of NATO, U.S. military presence in Europe, diplomacy, 
spying. 

• Concern: There would be a loss of trade with Central and Eastern Europe. 
Actions: Marshall Plan, Truman Doctrine, diplomacy.  
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• Concern: The Soviet Union created the Eastern bloc. 
Actions: the formation of NATO, diplomacy, spying.  

 
 
Scoring Guidelines for Item 12: 
 
Score point Description 
 
4 points The response will include two concerns with a relevant action for 

each concern.  
 
3 points  The response will include two concerns with a relevant action for 

one of the concerns OR include one concern with two relevant 
actions. 

 
2 points The response will include two concerns with no relevant actions OR 

include one concern with one relevant action. 
 
1 point The response will include one concern OR indicate one or two 

actions without connecting the action(s) with an appropriate 
concern. 

 
0 points The response does not meet any of the above criteria. The response 

may discuss other Cold War concerns (e.g., arms race) and related 
actions (e.g., development of the H-bomb) that are not pertinent to 
Soviet expansion in Eastern Europe, 1945-1950. 
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Score Point: 0 
 
The response does not meet any of the criteria for a higher score. No 
relevant concerns or relevant actions are identified. 
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Score Point: 0 
 
The response does not meet any of the criteria for a higher score. No 
relevant concerns or relevant actions are identified. The “space 
program to race to the moon” is not relevant to the United States’ 
concerns or actions regarding the expansion of the Soviet influence 
in Eastern Europe. 
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Score Point: 0 
 
The response does not meet any of the criteria for a higher score. No 
relevant concerns or relevant actions are identified. “More countries on the 
other side” lacks the specificity to identify the spread of communism. 
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Score Point: 1 
 
The response accurately identifies one relevant concern (expansion 
might cause another world war) but does not identify a relevant action 
for that concern. 
 

 

23 



 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Score Point: 1 
 
The response accurately identifies one relevant concern (the spread of 
communism); but does not identify a relevant action for that concern. 
The Korean War and the investigation of communism among American 
citizens were not actions taken by the United States to counter the 
expansion of Soviet influence in Europe. 
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Score Point: 1 
 
The response accurately identifies one relevant concern (spread of 
communism), but does not identify a relevant action for that concern. “Tried 
to stop it” lacks the specificity to identify an action. 
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Score Point: 2 
 
The response accurately identifies two relevant concerns (Russia might start 
a war; might cause more countries to become communist), but does not 
identify a relevant action for either concern. 
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Score Point: 2 
 
The response accurately identifies one relevant concern (the spread of 
communism), and identifies a relevant action for that concern (the United 
States practiced containment). 
 

27 



 

 
 
 
 
 
 
 
 
 
 

 
Score Point: 2 
 
The response accurately identifies two relevant concerns (spreading its 
communism; become a superpower and take over the world), but does 
not identify a relevant action for either concern. The domino theory is a 
concern rather than a responsive action, and the Vietnam War is not an 
action taken by the United States to counter the expansion of Soviet 
influence in Europe. 
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Score Point: 3 
 
The response accurately identifies two relevant concerns (all of Europe 
was going to fall to communism; another world war would begin), and 
identifies an action relevant to the concern of the spread of communism 
(the Truman Doctrine). Although the Berlin Airlift was an action in response 
to the United States’ concern about the Soviet Blockade of Berlin, the 
action is not relevant here since that concern is not identified. 
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Score Point: 3 
 
The response accurately identifies one relevant concern (communistic 
government being spread), and identifies two actions relevant to that 
concern (the United States sent people to watch the activities going on; 
had treaties signed to limit the spread of communism). 
 

 
 

30 



 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Score Point: 4 
 
The response accurately identifies two relevant concerns (the spread of 
communism; they didn’t want the U.S.S.R. to get too much power), and 
identifies an action relevant to each concern (they made allies with more 
European countries; they talked to them about it). 
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Score Point: 4 
 
The response accurately identifies two relevant concerns (the spread of 
communism, the Berlin blockade), and identifies an action relevant to each 
concern (the Truman Doctrine; the Berlin Airlift). 
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Item 

 

24. The early 20th century saw a significant northward migration of African-
Americans. During the 1920s, nearly 400,000 African-Americans settled in New 
York, Pennsylvania and Illinois. Many lived in large cities such as New York, 
Philadelphia and Chicago.  
 
Identify two economic effects of this migration on the United States.  
 
Write your answer in the Answer Document. (2 points) 

 
 
 
Sample Responses for Item 24 (Short Answer): 
 
Exemplar: 
One economic effect of this migration was that there was more competition for 
housing in northern cities. Another economic effect was there was an increase in 
the available labor supply in the North. 
 
Possible responses may include, but are not limited to, the following: 
• increase in the availability of factory labor. (Also: greater competition for 

employment during certain periods, opening up of some unions, etc.) 
• decrease of available farm labor in the South (also: weakening of 

sharecropping system) 
• crowding of cities, competition for housing 
• taxes increased in major cities (to pay for improvements to infrastructure and 

services needed as a result of increased population) 
 
 
 
Scoring Guidelines for Item 24: 
 
Score point Description 
 
2 points The response correctly identifies TWO effects. 
 
1 point The response correctly identify ONE effect. 
 
0 points The response does not meet any of the above criteria. 
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Score Point: 0 
 
This response does not meet any of the criteria to receive a higher score.  The 
response does not correctly identify an economic effect.  The states did not 
change sizes as a result of the Great Migration. 
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Score Point: 0 
 
This response does not correctly identify an economic effort.  “We learned 
about their cultures (melting pot)” is a social effect rather than an economic 
effect, and slavery no longer existed in the U.S. in the 1920s. 
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Score Point: 1 
 
This response correctly identifies an economic effect (New York, Philadelphia, 
and Chicago probably were very crowded since they were some of the most 
popular places for blacks to live). “Overcrowding creates competition for 
housing, which is an economic effect. 
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Score Point: 1 
 
This response correctly identifies one economic effect (the more people 
moving into an area the more crammed it becomes and the less space 
there is). The second attempted effect (pollution/sanitation) is an 
environmental effect rather than economic effect. 
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Score Point: 1 
 
This response correctly identifies one economic effect (more competition for 
jobs because the blacks came and wanted to work also).  The second 
attempted effect of “prejudice” (many whites probably didn’t like the blacks 
coming in; there was most likely segregation going on ) is a social effect 
rather than an economic effect. 
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Score Point: 1 
 
This response correctly identifies one economic effect (since more people 
were moving into the area they would need jobs; people who already lived 
there would be struggling to keep their jobs while the new people were trying 
to get jobs).  The second attempted effect (the prices of things may have 
varied once people started to move in) is too vague to identify an economic 
effect. 
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Score Point: 2 
 
This response correctly identifies two economic effects (economic decline 
in South as their low-paid labor forces leave; an economic boost in North 
[from] a new work force). 
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 Score Point: 2 

 
This response correctly identifies two economic effects (there was a need for 
more jobs so that the African-Americans could have jobs too; it created a 
demand for cheap housing as the African-Americans had nowhere to live). 
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Score Point: 2 
 
This response correctly identifies two economic effects (as African-Americans 
began to get jobs in these cities; many whites had trouble finding jobs; the 
buying of goods and services, businesses had even more people to market 
their products to). 
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Score Point: 2 
 
This response correctly identifies two economic effects (the south lost a good 
deal of its agricultural workers [which] caused a huge drop in crop 
production and sales from the south; a shortage of jobs in the north and 
many were left unemployed). 

46 



 
 
 

 
 
 
 

Social Studies 
 

Item 30 
 

Spring 2006 

 
Item and Scoring Guidelines 

47 



Item 
 
30. One way the Federal Reserve System seeks to influence the U.S. economy 
is by raising or lowering the rate of interest (discount rate) that member banks 
must pay to borrow money from the Federal Reserve. Considering that the 
inflation rate rose significantly from 1976 to 1980, identify the change (increase or 
decrease) the Federal Reserve System could have made in the discount rate to 
reverse that trend. Describe the expected impact this change in the discount rate 
would have had on:  

• consumer spending 
• business spending 

Explain why this change in the discount rate would produce the desired effects 
on spending.  
 
Write your answer in the Answer Document. (4 points) 
 
Sample Response for Item 39 (Extended Response): 
 
Exemplar: 
In order to counter increasing inflation rates, the Federal Reserve System could 
have increased the discount rate. This would have reduced consumer spending 
and business spending because higher discount rates mean there is less money 
in circulation.   
 
Other correct responses: 
• The Federal Reserve System could have increased the discount rate.  

Consumer and business spending would have decreased because loans 
would be more difficult to obtain (expensive). 

 
 
Scoring Guidelines for Item 24: 
 
Score Point Description 
 
4 points The response contains the following four elements:  

• it identifies that the Federal Reserve System could have raised 
the discount rate;  

• accurately describes a decrease in consumer spending;  
• accurately describes a decrease in business spending; and 
• offers an accurate explanation of these effects related to 

decreased money circulation. 
 
3 points The response contains three of the four elements. 
 
2 points The response contains two of the four elements. 
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1 point The response contains one of the four elements. 
 
0 points The response does not meet any of the above criteria. The response 

may discuss operations of the Federal Reserve System but not relate 
the actions to the conditions of the prompt. 

 
Note: Each part of the item (identification, impact on consumer 
spending, impact on business spending, and explanation) can be 
scored independently, for one point each. 
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Score Point: 0 
 
The response does not meet any of the criteria to receive a higher score.  It 
does not identify that the Federal Reserve System could have raised the 
discount rate, does not describe a decrease in consumer nor business 
spending, and no accurate explanation is provided. 
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Score Point: 0 
 
The response does not identify that the Federal Reserve System could have 
raised the discount rate, does not describe a decrease in consumer nor 
business spending, and does not offer an accurate explanation. 
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Score Point: 0 
 
The response does not identify that the Federal Reserve System could have 
raised the discount rate, does not describe a decrease in consumer nor 
business spending, and does not offer an accurate explanation. 
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Score Point: 1 
 
The response contains one of the four elements. It identifies that the Federal 
Reserve System could have raised the discount rate. 
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Score Point: 1 
 
The response contains one of the four elements.  It accurately describes a 
decrease in business spending. 
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Score Point: 1 
 
The response contains one of the four elements.  It accurately describes a 
decrease in consumer spending. 
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Score Point: 2 
 
The response contains two of the four elements.  It identifies that the Federal 
Reserve System could have raised the discount rate, and accurately 
describes a decrease in business spending. 
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Score Point: 2 
The response contains two of the four elements.  It accurately describes a 
decrease in consumer spending and in business spending. 
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Score Point: 2 
 
The response contains two of the four elements.  It accurately describes a 
decrease consumer spending and in business spending.  “[I]ncrease the 
taxes” is accurate and irrelevant to the question asked. 
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Score Point: 3 
 
The response contains three of the four elements.  It accurately describes a 
decrease in consumer spending and in business spending, and “the banks 
don’t have much money to lend to people” is an accurate explanation of 
these effects related to decreased money circulation. 
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Score Point: 3 
 
The response contains three of the four elements.  It identifies that the Federal 
Reserve System could have raised the discount rate, and “[t]hey would stop 
buying” accurately describes a decrease in consumer spending and in 
business spending. 
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Score Point: 3 
 
The response contains three of the four elements.  It identifies that the Federal 
Reserve System could have raised the discount rate, accurately describes a 
decrease in consumer spending, and “people would have to pay more in 
interest” is an accurate explanation of these effects related to decreased 
money circulation. 
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Score Point: 3 
 
The response identifies that the Federal Reserve System could have raised the 
discount rate, accurately describes a decrease in consumer spending and in 
business spending, and “[t]his would cause member banks to borrow less 
money, thereby reducing the amount of money in the economy” is an 
accurate explanation of these effects related to decreased money 
circulation. 
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Score Point: 4 
 
The response identifies that the Federal Reserve System could have raised the 
discount rate, describes a decrease in consumer spending and in business 
spending, and “money would be harder to attain and there would be less of 
it” is an accurate explanation of these effects related to decreased money 
circulation. 
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Item 

36. Hispanic-American farm workers organized the United Farm Workers to 
persuade farm owners to treat them more fairly. One perspective of 
these workers was their belief that the owners’ unfair hiring practices 
denied them equal opportunity for employment. State two other 
perspectives of farm workers that led to the creation of the United Farm 
Workers.  

 
Write your answer in the Answer Document. (2 points) 

 
 
Sample Response for I tem 36 (Short Answer): 
 
Exemplar: 
One perspective of these agricultural workers that led to the creation of the 
United Farm Workers was that farm owners were failing to provide them with fair 
wages. Another perspective was that they lacked safe working conditions.  
 
Additional possible partial responses: 
 
• They realized that they needed to organize in order to have any bargaining 

power with the farm owners. 
• They objected to poor sanitation in the fields, such as a lack of clean drinking 

water and a lack of portable toilets. 
• They felt living quarters provided were inadequate, such as a lack of cooking 

facilities and indoor plumbing. 
 
 

Scoring Guidelines for Item 36: 
 
Score point Description 
 
2 points The response accurately states two perspectives of Hispanic-

American agricultural workers that led to the creation of the United 
Farm Workers. 

 
1 point The response accurately states one perspective of Hispanic-

American agricultural workers that led to the creation of the United 
Farm Workers. 

 
0 points The response does not meet any of the above criteria. It may 

discuss perspectives of Hispanic-American agricultural workers that 
are unrelated to the creation of the United Farm Workers, or it may 
discuss the United Farm Workers without reference to perspectives of 
Hispanic-American agricultural workers.
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Score Point: 0 
 
The response does not meet any of the criteria to receive a higher score.  No 
perspective of Hispanic-American agricultural workers that led to the creation 
of the United Farm Workers is stated. 
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Score Point: 0 
 
The response does not state any perspective of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers.  
Religion was not an explicit factor in the formation of the union, and 
“competition which can lead to decrease in their farm activity” does not 
convey the idea of organizing to have bargaining power. 
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Score Point: 0 
 
The response does not state any perspective of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers.  
Racism was not an explicit factor in the formation of the union. 
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71 

Score Point: 1
 
The response accurately states “low pay” as one perspective of Hispanic-
American agricultural workers that led to creation of the United Farm Wor
“Harsh working conditions” is too vague to convey the idea of unsafe or 
unsanitary conditions. 

kers.  

 
Score Point: 1 
 
The response accurately states “low pay” as one perspective of Hispanic-
American agricultural workers that led to the creation of the United Farm 
Workers.  “Harsh working conditions “ is too vague to convey the idea of 
unsafe or unsanitary conditions. 



 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
Score Point: 1 
 
The response accurately states one perspective of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers (many 
farm workers may have felt they need more unity between them). 
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Score Point: 3 
 
The response accurately states “they paid them less” as one perspective of 
Hispanic-American agricultural workers that led to the creation of the United 
Farm Workers.  Neither equal opportunity to own land nor rude treatment 
were factors leading to the formation of the union. 
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Score Point: 1 
 
The response accurately states one perspective of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers 
(unfair low pay) “The owner of the farm could take advantage of his workers 
and if they did not like it they were fired and another worker was brought in’ 
repeats the concept of “unfair hiring practices” from the prompt. 
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Score Point: 2 
 
The response accurately states two perspectives of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers (not 
getting paid the same; unsafe working conditions). 
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Score Point : 2 
 
The response accurately states two perspectives of Hispanic-
American agricultural workers that led to the creation of the 
United Farm Workers (they weren’t getting paid enough; farm 
workers often had to l ive on the farm where the shacks 
probably were fi lthy and disgusting). 
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Score Point: 2 
 
The response accurately states two perspectives of Hispanic-American 
agricultural workers that led to the creation of the United Farm Workers (low 
wages; had to stay in the barn or worse). 
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Item 
 
42. Describe the decision-making role of citizens in countries that are 

dictatorships and in countries that are absolute monarchies.  
 

Write your answer in the Answer Document. (2 points) 
 

 
Sample Response for Item 42 (Short Answer): 
 
Exemplar 
In dictatorships and absolute monarchies, citizens have a very limited or no role 
in decision making.  
 
Other correct responses: 
• Decision making is in the hands of leaders who have no obligation to 

obtain citizen support. 
• Government advisors are appointed by the head of state (dictator or 

monarch) to help make decisions, without the input of citizens. 
• Citizens may attempt to bring about change through mass protest or 

revolution. 
• Citizens who are opposed to government policies or practices risk 

punishment if they try to bring about change or make their wishes known. 
• Citizens in dictatorships may be allowed to vote in elections but only for 

government-approved candidates. Citizens in absolute monarchies 
generally do not have the franchise. 

 
Scoring Guidelines for Item 42: 
 
Score point Directions 
 
2 points The response provides an accurate description of the role of citizens 

in decision making in countries that are dictatorships and countries 
that are absolute monarchies. 

 
1 point The response provides an accurate description of decision making 

for citizens in only one form of government.  
 
0 points The response does not meet any of the above criteria. The response 

may provide inaccurate information. The response may describe 
some aspect of citizenship in both forms of government but never 
addresses decision-making roles (e.g. “citizens have limited rights 
under both forms of government.”) 
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Score Point: 0 
 
The response provides inaccurate information. There is no accurate 
description of the role of citizens in decision making in countries that are 
dictatorships or countries that are absolute monarchies. 
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Score Point: 0 
 
The response does not provide an accurate description of the role of citizens 
in decision making in countries that are dictatorships or countries that are 
absolute monarchies. 
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Score Point: 0 
 
The response does not meet any of the criteria to receive a higher score.  No 
accurate description is provided of the role of citizens in decision making in 
countries that are dictatorships or countries that are absolute monarchies. 
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Score Point: 1 
 
The response provides an accurate description of decision making for 
citizens in countries that are absolute monarchies.  No description is provided 
of the role of citizens in decision making in countries that are dictatorships. 
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Score Point: 1 
 
The response provides an accurate description of decision making for 
citizens in countries that are dictatorships. The description provided of the role 
of citizens in decision making in countries that are absolute monarchies is 
inaccurate. 
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  Score Point: 1 
 
“Run by one person” accurately describes that there is the lack of a decision 
making role for citizens in countries that are dictatorships.  The description 
provided of the role of citizens in decision making in countries that are 
absolute monarchies is inaccurate. 
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Score Point: 2 
 
The response provides an accurate description of the role of citizens in 

 
 
 

decision making in countries that are dictatorships and countries that are 
absolute monarchies. 
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Score Point: 2 
 
The response provides an accurate description of the role of the citizens in 
decision making in countries that are dictatorships and countries that are 
absolute monarchies.  The statement provided is true of both forms of 
government (they are ruled by one person and don’t get a say in anything). 
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Score Point: 2
 
An accurate description is provided of the roles of citizens in decision making
in countries that are dictatorships and countries that are absolute 
monarchies. 

 

 
Score Point: 2 
 
An accurate description is provided of the role of citizens in decision making 
in countries that are dictatorships and countries that are absolute 
monarchies. 
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Score Point: 2 
 
The response provides an accurate description of the role of the citizens in 
decision making in countries that are dictatorships and countries that are 
absolute monarchies. 
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